5= X
nx+q=095%Z=Zy68t 2, (a-y)(@a-6)(B-y)(B-9)E p.q
2 UehH?
O (p+4q)? @ (2p +q)* ® (p-29)°
@ -9 ® (2p-3¢)?

3t A2k} TA A

a+pB=-naf=p, y+6=-n, yd =q°lB=
FoAR A = {(a-7)(B-7)}{(@-6)(B-6)}
={¥’ - (@+B)y +aB} {6 - (@ +p)s + a}

= (¥’ +ny + p)(6® +nd + p)
J-d], y? + ny + g = 00114

Y +ny+p=pr-¢q

E, 6% +né+q=0°]A

2 +ns+p=p-q

wrebA], T3 A= (p - g)?




2. x—3x+1—0-4‘:1°a,83]'0}_1_ gx)=x3-x*-3x+35 &
™, g(a) - g(B) & F27

@1 @ 3 ® 8 (@)11 ® 13

B

o Aleete] BANA a+8=3, of=1
T, g(x)=x3-x2-3x+3

=2 -3x+1D)(x+2)+2x+1
@, fEX*-3x+1=09 Fo|lB2
gle)=2a+1, g(B) =28+1

g(@)g(B) = 2a+1)(28+1)
=4daf+2(a+p)+1
=4+6+1=11




3. x¥*-3x+2=09 3T ZolaolT, x2-—ax+1=09 F 20| b, c¥
o], b3 + ¢ 9] 2 ?

®-1 @1 @®-2 @2  ®o0

B ,

a=x3-3x+2=09 3 Zo|lBZ

a®-3a+2=0

b, cex*—ax+1=09 F ZojB2g

b+c=a, bc=1

b+ = (b+c)® - 3bc(b+c)
=a%-3a=-2

o




Ay =xt+a’t ZEAy

Zol9) A%

4.

sh?

?_

@) v

O
=

@ 242 ® 53

® V7

@ V5

ol
R
A

M|

=x+a

D
2

ax* + (b+1)x -

sl

a=09 F & a, gt

28
2

ax®> + bx —

N <fi Ne)
| S e Al
oy e
ESHIN
N~ — +
[a\l N
00
| +
~ «a +
/~ TN o
ESHIN] RIS DI




5.

xoll TR O KA 2 4 (m+ x4 (m? — 1) = 0] AT a8
7V, o2 1 42 9] A%:3HE FoHE? (

o
3
rlo
{12
>
(e}
k)
NI

@o @1 ® 2 @ 3 ® 4

D = (m+1)2-4(m?-1) > 0, 3m?>-2m-5 < 0, (3m=5)(m+1) <0

(@34

o—1<m< -

= Alaote] BA A
a+p=-(m+1), ap=m*-1
L@+ B2 = (a+pB)?-2aB

= {-(m+1)}*=2(m>-1)
=-m?+2m+3=-(m-1)2+4
wetA, ok A4S 0 (m = -1 o)

w




xol thEt o)A Al 42 4 2mx + 2m2 + m—2 = 00] F AT o,
7Vl ul, o? + 0+ 2 5 mol ohgt 402 R, o 9] 2Tigtat
&2 otd?

@ digk: 8, H2gk: 2 @ Higk: 10, F Ak 3
@adg, 129 @ Az, Aag: 2
<Dﬂm§1&§iﬁg

B |

Folz A4 o] A= 7t ER
D/A=m?-(2m*+m-2) 2014 -2<m<1
a+pB=-2m, aff =2m? +m—-20]2&

@ +af+p = (a+p)°-aB

= (-2m)? - (2m® + m - 2)

=9m2 -m+2
1)2 15
= = = —(2<m<1
( 1) tg2smsl)
1 } 15
'-m_Zoa] EH,}’]’/’\‘7P g

m= -2 o, A7 12




7.

OIAHIAA ¥ 4 3x+1 =09 5 2L 0,65 T, va+ VB S

Artst?

@i @-vii V5 @ -5 O b

~&B

a+B=-3<0,08=1>0,D=9-4>0°]B2 F L& 1%
=4Ol
(Va + VB)? = (Va)? + (VB)? +2Va - VB
=a+p-2vVaB (“a<0,B<00]BR)
=-3-2=-5

L Vet B =+ Vb

Llﬂ Va+ \B= /(-a) (-1) + /(-B) - (-1
=V-a- i+ VB-i

=(V-a+ Vp) i

soNa+ B ()i Eolth

o Na+ B = V5i




@ -x 1200 F 2& 0 p2t oW fla) =1, () =+ 18
RSt ol karel A%} 18] olate] chadA) f(x) ol stel £(1) )
ke ok

@ 1 @2 ® 3 @ 4 ® 5

B

a+B=1,aB=1 (a+p)

f(x) =x*+ax+b 2 otdA
fla)=a?>+aa+b=p+1
fB)=p+a+b=a+1

fl@)=f(B) =a® =B +ala-B) = —(a-p)
a#BOlER JHE -4 2 HFH
a+f+a=-1 a=-2( a+f=1)
fl@)=a®-2a+b=p+1
fB)=p-2+b=a+1
fl@)+fB)=a>+p-2(a+p)+2b=a+p+2
(@+B)?-20B-2(@+pB) +2b=a+B+2
1-2-24+2b=3 ..b=3

S f(x)=x>-2x+3

f1)y=2




9.

xOf St OJAPHA A ax? +bx4c =09 F 22

@, o, a+pB,ap

£ F 2= ot oA AHAL ax® —bx+ ¢ = 0°] Hrh o] o,

o + 7 & Ftoler,
B

>
> ®™et: 7

od =

B

ax? +bx+c=0F 20| a,f°1 B2,

b
a a

zagg. by c_thte b
g a a a
e
a da a
2b=c,a=-b,c = -2a
- =)
Y S ) I S

@+ 83 = (a+ )3 - 3aB(a +B)
=18-3.(-2)-1=1+6=7

ax? —bx+c=09 F Z°l a+ B, afol2




